Eco 307 




Homework #4



Taggert J. Brooks Due April 2
For Question one through four, consult the exercises at the end of the appropriate chapter.
1.  Retrieve the dataset Chick6 from the course web page.  Estimate the following models:

i.  Yi = α1 + α2PCi  + εi
ii.  Yi = β1 + β2PCi  + β3YDi  + εi
iii.  Yi = δ1 + δ2PCi  + δ3YDi  + δ4PBi  + εi
where: Y is per capita consumption of Chicken in pounds in year t

PC is the price of chicken in cents per pound

PB is the price of beef in cents per pound (substitute for chicken)

YD is US per capita disposable income in hundreds of $ in year t

A.  Include the pertinent regression output (including the t statistics).

B.  For each model calculate the Akaike Information Criterion (AIC) and the Schwarz Bayesian Criterion. (SBC)  

C.  For model (ii) calculate the Ramsey RESET test re-estimating model ii while including the fitted values to the 2 and 3rd power on the right hand side (RHS).  Is there evidence of omitted variable bias in the first model estimated?  If so, indicate the likely source of the bias try including the expected sign of the bias as well.

D.  Which model do you think is best?  Why? (Be thorough)

2. Using the file cll-data.sav, which contains data on students in ECO 110, run the following regressions and answers the questions.

i. Score=f(perrnk, aptpre, age, control)
ii. Score= f(actmth, perrnk, aptpre, age, control)

A. For each report the values for the R-squared an R-barsqaured, comment on the coefficients, and the overall fit of each equation.  Also report the SBC, AIC for both equations and perform the Ramsey RESET test on model i. 
B. Which model do you think is best? Why?

